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I _.__.__._.__...-.—H—----—--..._.--—--"'
[ [FalpakaQCDPU

08t .QCDPU

0.6

0.4+

0.2

L-\'G-' TR | N MR | N N
O e

0.95C

102 10°

[Jet pT response, 2.1<|n|<2.5 |

1

B

+

0.8

0.6

0.4

0.2

fRvs)

+

0.95

[y
o
w

10?

[Jet pTresponse, 0.5<n|<1.3]

1 i By

t

0.8

0.6

0.4

0.2

L B B B B S

&

I

0.95 3
10? 10

[Jet pT response, 2.5<[n[<3.0 ]

=

LNLES LN BN B
++
-+

0.8

0.6

0.4

0.2

FRve)

s

TTT T YT
T

i

0.95 3
10? 10

[Jet pTresponse, 1.3<n[<2.1]

1

0.8

0.6

0.4

0.2

+

_._.__.__._----—-—W—-—-—-—+
-

=

0.95

J="TrrrrrerrrerrrTT Ty

]

102 10°

[Jet pT response, 3.0<|n|<5.0 ]

[ + -
1 +""“""—o—*
0.8_—+
0.6
04ft
0.2
;.\.G-' RN | TN R
4: |11¢11111| 1
1 |1IIITII]| T
0.95L >
102 10




	Contents
	Page 1


